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[MATH 101 FALL 2020 QUIZ 37|

You are allowed one page of notes and a calculator. No phones. More than 25pts to earn. your

answers for full credit and show work. Thanks!
: §w g . 2z —3
Problem 1: (2pts) Find domain in interval notation for f(z) = p——

Neel X+7 #0 = X#-7%

@om L)) = (-00,-—7)L/(-~7L/ @

8453 . 53 =il
Problem 2: (2pts) Simplify prelies HYAX —_

z 2 X('i“‘a) | —aX
Problem 3: (2pts) Simplify § = . . = P
213 X (< +3) 1 4+3X



P 9z +36 _ X ‘C(XH)

~ Problem 4: (2pts) Simplify

L § ) s

2% — 16 4a? — dx
Probl 5: (2pts) Simpl . s
roblem 5: (2pts) Simplify % > "T6-8 ool

Q.: (x= Ll)(><+‘4) o“lx(x-—l)
A4 3x —=Y) Xl

= =) O] Xy
ALK+ (x-1) X=1

T\(x 4)

. .y 6

3z + 25z* — 90z 3 X A9 X QOX

: impli —_ 'S - ==

Problem 6: (2pts) Simplify 522 S 15 X 5 X2




. 3
8a’ JQ
__Problem 7: (2pts) Simplify : = :

1605—40a> +-20— QG (- §Ot —- OO A )

_ | ha |
Ral - 200 + |

Problem 8: (2pts) Simplify v/ —64z° = 3 ’ =} 3, 6 Y W

| ) M) .Xq/e

= LL‘()@!
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8
3+V7

Problem 9: (2pts) Rewrite the expression as to rationalize the denominator:

( R )(Ba-dﬁf> _ =37

e E R AR R e

100
3+ 4i

100 3-4;\ — dvo(3—Y% |
= '3~Vi) 9 +lai-(ai-l6i°
— ioo 3-4i)
25
= Y \'3—-‘!2)
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Problem 10: (2pts) Find the Cartesian form of the complex number




Problem 11: (2pts) Solve g — ; =11

T 3% = MK o=y = yso= play)
al al al
[X': INETV 7Y
Y 'S

B c+1 4
Probl 12: (2pts) Sol = —.
roblem (2pts) oveac_*_2 z

g (x+1) = 4(x+3)
S% + 5 = 4x + 3
5X —4X = 8- G

Problem 13: (2pts) Solve vz +19 —2 = 1

@5x+m) f
GX +19 = 9
S5 \ O
¥ & =18 = 1 chechs,
> <{an 33

Problem 14: (2pts) Solve z = 8 + v/z — 6.
X-% = Jx-¢
k-9 = (GTo) = x-6
X—l6x + &4 = x— €
—13FIX+F0 =0
(X -10)(x-7) =0
Hwauul g+ J7-6 = ¥+ =9 ;47 Yhwr X=7 et @ Sol”
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